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Wy 2% with Octave

- 0dedbBEI TEITAIRE

- odedb(oH AR, BHXE, ¥1HE)
dy _ 77

. =2t 7 fie <

# BAEXE
tspan = 0:0.5:10;
# WHAME
yo = 0; AR D BEORE (y =t?)
# REWEHHER 80 =4, HEE :
function dy = deriv_y(t, y)

dy = 2%t;
end
# tspanOXEZED
[t, y] = ode45(@deriv_y, tspan, y@);
# BRE=70v b
plot(t, v, ),
hold on 20 | .
# EOHEBREAKFZETTOY b
y = tspan.AZ

100 T T T T /)

60 7

plot(tspan, vy, y ) o
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le—tf + kli—f + mgsinf = 0 mBE LHROREE 0:MBE kARG ¢ BHMRE

odedbB#M = FERT 2551F, BRODWHDABEXZLIROWMAHFRENICHETIHENDH S
ZITI, 0=y, L=y, £BCET, TROL S IC220DLREAYHRRKICHRTEE

dat
dy: _
dy,  —kly,—mgsin(y,)

dt ml
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2B AEXDEE X 5 with Octave

dy:s
dy,  —kly,—mgsin(y,)

dt ml
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# BOXER L UIHE

tspan = 0:0.1:10;

po = [1, 0];

# dyl/dt, dy2/dt OFE&
function dy = deriv_pend(t, y)

05

g=9.8;

m=1.0; oL

1= 8.5%

k= 0.2

dy = [y(2), -1/(m*L)*(k*1*y(2)+m*g*sin(y(1)))]; |
end

# ode45TLEEDHMAHFERZMEL
[T, Y] = ode45(@deriv_pend, tspan, p@); . , . .
plOt(T: Y( ,1)’ b ’ ? ) ° ° " 14




(#RE) &S with Octave

- integralE8%x
. integral(function, xmin, xmax)
. B#functionZ [xmin, xmax] DEHE TES T 5

. TR 2 dx ol

1+x

# integ.m
# B|a '
func = @(x) (log(x)./(1.0+x.A2)); ':>=“j;?3294

q = integral(func,?,10) -
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— = —BSOI®) REMRIGE CRELEN)
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dR—“) = yI(t) S BRI E

7235, S(0) =10000, 1(0) =10, § =0.0001, y = 0.1 & T2 xp: BpEER p: EER
fEEht ([0,30]), #MeERI(L),S(t) £ LT7ay b L=KAERHEL TS W
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